— % 5B ¥4 X 100mR

O E ISR
FRER AR - PR R L

UL FLER (KR) 39. 66 U (S - P - KA - KEF) 1997 9A10H 18:20 #{hL—x
A{BV-%  2KH
140
1F WAKBRAE-A=E) 43.19 2& WHHEES-AZR) 43.93 3% fllEm—AC=EH) 44. 30
8V—v R 4v-y
-4 fun - K4 T4 = fun - K4 I=h = o - K4

1 925 HiE &K 1 966 i Rt (2) 1 1054 il % (2)

2 928 K& FE(D) 2 964 (T {HE(2) 2 1052 HEA CRFE(2)

3 918 AR KHi(2) 3975 1D Z(2) 3 1051 {EH ot (2)

4 915 | HEAHEQ) 4 970 THE Bk (2) 4 1053 f@&E  IKE(2)
1F @FEHE-ACER) 44.60 5% MFEE-—A(=H) 44. 69 L& A=)
A TV=y 1=y DSQ, R1
L A P2 0 4 AR P2 0 Iy gy - K4

1 1096 Fnf  HHE(2) 11911 WimE fFK(@) 1 1513 -/ ARERE )

2 1113 fAa%E (D 2 1912 B —BEH(2) 2 1493 EifE Y (2)

3 1101 {EE ®E(2) 31906 HIEE  KHE(2) 31486 TRAE i (2)

4 1108 S IESF (1) 4 1914 SFEE HESR(2) 4 1487 I BUE(2)

WA —A(ZE) JIBEE —A (=)

5= DNS 6b—v DNS
i M Nl A o - B

1 ( ) 1 ( )

2 ( ) 2 ( )

3 ( ) 3 ( )

4 ( ) 4 ( )
248
1% ©EHE-B(=H) 45.19 2% EFE-B(=H) 45.81 3% WHILE—-AZE) 45. 82
A 1=y R
i A A A S 2] =5 - fun - K4 A R A A 2

1 1104 AR $HFEQ) 1 1514 i EHE(D 1 1360 Htdl &(2)

2 2084 FEEMAREAD) 2 1491 A Kl (2) 2 1370 A KEE (1)

3 1112 HE X 31494 HEM 0 FEA(2) 31372 R OERQ)

4 1111 ®if E3FQ) 4 1492 I AV 4 1357 JII'F Mt (2)
4% FA4LE—-AZEH) 46.88 bx&F {EILEH—A(ZHE) 46.98 6F $nfEm—A(=H) 47.55
6L—Y 5V=y 4v-y
=4 - o - K4 =4 = v - K4 =4 = fon - K4

1 1845 fEE% = (2) 1 2058 /bR JaEVHE (1) 1 1408 A& (1)

2 1849 HH A 2 1589 JbJII ki (2) 2 1410 ¥BEF BE(1)

3 1850 Rk EE (D 3 1588 WM B (2) 3 1398 fRH #WE(2)

4 1852 #AK  BHOFE(1) 4 1591 W RS Q) 4 1405 FgHE (1)

DY R — A () VU B T R —A (=)

TV=y DNS 8v—v DNS
i Ml N i i Ml N i

1 ( ) 1 ( )

2 ( ) 2 ( )

3 ( ) 3 ( )

4 ( ) 4 ( )

LI DNS: &5 DSQ:464% R1A—/N—Y—> 152



